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Run 4448 mpswise, accO: All

Enilries: 1253822

Mear: 10,0037 &/ 00022

Sid Dev: 24395 +- 0.0015
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AcciNAccD

Run 4448 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Enitries; 202418

Mean: 11.9272 «- 00013

Sbd Dwev: DUBSTE .~ D.000Y

Enitries: 282450

Mean: 11.9658 /- 00073

Sid Dwery: DUBET2 4 00009
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Run 4448 mpswise, acc(: Beam OFF

Enlries: 45032

Meari: 12733 4/- 0.0010

Sid Dev: 0065 - 00007

AccliNAccD

Run 4448 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries; 302532

Mean: 89376 +- 0uM12

Sid Drev: DLBSBS & 0.0008




AccO/NAccO

AccO/NAccO

Run 4448 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF

Run 4448 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4448 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON Run 4448 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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